I 1BHE) D

e I 2 PR A
H SF6FE1H1H
= AF6E12H31H

16 42 F3 2 T (59l IS SRR () D

[ A D] BT
B H THAR R 7EH i B
£ =2 B 600,000 510,000 90,000
MM A 0 0 0
Al OB MR B & 0 0 0
& 7 600,000 510,0003%1 -90,000
[ZHDE] BT :
B H TR NC K| it B o=
(&4 —) 300,000 116,597 183,403
(T 7 KRE) 120,000 112,289 7,711
(& # = 150,000 250,829 -100,829
B il 4 A # 10000 10,000 0
SR SR I ¢ 10000 10,000 0
W F & 10,000 10,000 0
& 7t 600,000 509,715 -90,285
ER B 509,715 X2
) I 3 7= FE 285 1-3%2
VRN R 285




FRASHE LIS TEAOATIGERET B DI BRI O
AL ESRR A TR A L CEE AR 2 T o728 2 A, IEfE D IEIZALBES 71T
VT LA RER LT O TS T,

SFT7THE1IHIH

PRSI S FRS
S R R

U IN



(55 2 BRER] H 7T EEEEHE R NI FRER)

afrEE  FO% Rl ()

H 4578 1H 1H
= SFTE12H31H

HAZER DD, KRB, ROFHXAZE LB TITHEHIT, BEBERDZDHD

HFRO AT, = B O WAHAD hb NFITERICH S 0 5,

1 KREPFERTDDIE R EE IR S B 5,

2 REOAOERZNLD, FEIHERZBRE T LI, #E EosEREIZE
DAL T TEZT T,

3 HHATE, HHAHAEL, = B AEOBIE . A

4 ZOfth BB D7D LBEIREEZTT,

%]

%)

2H21H (&) HBB

6H21H (1) Hh=EIT—

8H 30 H (L) MLEDOEANYT



Shrer I X T RO (F
H A7 1A 1H
£ AT 12 H 31 H
(LA DE] LT
B H TR 5 =
EXH 600,000 SR THEEES T
HEA 0
GUEE % 285
At 600,285
[ i) BANT:
B A TR O
e
(E Wi s 150,000
(FNT7RE) 150,000
(E3F—) 300,000
FIUl| Ay 10,000
THEEM 2 10,000
g 10,000
YIS A ET 600,000






